
 

National 4   Inverclyde Academy 

Calculate (i) the circumference and (ii) the area of the following circles 

 (a)    (b)   (c) 

A circular cake stand has a diameter of 30cm. Calculate the area of the stand.

Calculate the perimeter the shape below.

Simplify: 

 (a)    4 6 7 10x y x y    (b)    5a + 4c - 14a  (c) 2x  5y + 3y    

Evaluate each of the following expressions when  4,2  ba  and 3c . 

 (a)  6a + 2b   (b)   a
2
 + ac  (c)  abc  (d)  ac + ac

Expand the following:

(a)    3( 1)x  (b)    2(a - 6) (c) 5(2x  1) (d) 8(3p – 4) 

Expand the following: 

(a)    3( 1)x + 3x  (b)    2(a + 3) - 9  (c) 4(x  5) – 6x  

Factorise:

( ) 3 15 ( ) 5 35 ( ) 8 48 ( ) 18 6a x b y c a d t      

6m 
12 cm 

22 mm 

7m 

3m 
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Solve each of the following equations. 
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Calculate: 

 a) 20 % of £30    b) 50 % of 11 kg 

 c) 15 % of 200    d) 22 % of £4 


